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Comments:

4This standard deviation (error) includes a lab error multiplier.

** 1 sigma = square root of (sample std. dev.2+ curve std. dev.?)

2 sigma = 2 x square root of (sample std. dev.2+ curve std. dev.?)

[ 1 = calibrated with linear extension to calibration curve

0* represents a "negative" age BP

1955* denotes influence of bomb C-14

For cal yrs between 5500-5190 BC an offset of 25 years is possible.

NOTE: Cal ages and ranges are rounded to the nearest year which
may be too precise in many instances. Users are advised to
round results to the nearest 10 yr for samples with standard
deviation in the radiocarbon age greater than 50 yr.



